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About photosynthesis

Reaction of photosynthesis is generally shown in the following
equation.
Carbon dioxide + Water — Oxygen + Sugar
6C0O, +6H,0 = 60, + CH,0;
Chlorophyll contained in the chloroplast plays an important role in
this reaction. Reaction based on the above-mentioned equation

is indicated in Figure 1.

Chlorophyll contained in thylakoid (lamellar) in the chloroplast of
a plant cell performs photosynthesis when receiving light, and
eventually produces sugar in the stroma. This photosynthesis
reaction takes place every time chlorophyll absorbs a particle of
light as shown in Figure 2.
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No matter how large energy a particle of light has, it is just one particle
of light once absorbed by chlorophyll, and the particle of light isolates
one electric charge of water molecule to use it to transmit a series of
reaction. Therefore, in the photosynthesis reaction, light should be

recognized as a particle, not as energy.

A particle of light is generally called a light photon (photon), and how s
much this photon is absorbed is important in the course of
photosynthesis. Thus, in the field of plants, photon flux density (amount
of photon) is used to indicate the unit of light because of the same
photosynthesis reaction is gained by different light (red, blue, etc.) of any

energy or wavelength.

The spectral photon analyzer allows you to measure the photon flux

density per wavelength.
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